BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC.

LJA ENGINEERIN E. MURPHY MAY 23, 2024 0390-2308 (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE ITEMS
1) GONZALEZ CONSTRUCTION ENTERPRISE, INC.	\$1,952,113.13	\$2,081,092.63
2) DIMAS BROS. CONSTRUCTION	\$2,024,684.00	\$2,144,445.40
3) FELLERS AND CLARK LP	\$2,131,500.00	\$2,231,533.05
4) CE BARKER LTD.	\$2,250,002.83	\$2,345,566.83
5) PRINCIPAL SERVICES, LTD	\$2,284,808.40	\$2,362,833.40
6) KENNETH LAMB CONSTRUCTION CO.,LTD.	\$2,299,139.00	\$2,371,861.00
7) BLAZEY CONSTRUCTION SERVICES LLC	\$2,316,819.66	\$2,415,383.66
8) R CONSTRUCTION CIVIL, LLC	\$2,342,456.45	\$2,395,305.45

# CALENDAR DAYS 85/95



I, Kyle T. Kraus, PE, hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024
LJA ENGINEERING, INC.
E. MURPHY

2) DIMAS BROS. CONSTRUCTION

MAY 23, 2024
LJA ENGINEERING, INC.
E. MURPHY
MAY 23, 2024
0390-2308 (9.2)
GONZALEZ CONSTRUCTION ENTERPRISE, IN

ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS FOR ANNISTON SECTION 10								
1 8" PVC WATER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING FITTINGS, COMPLETE IN PLACE	LF	2694	\$34.01	\$91,622.94	\$34.10	\$91,865.40	\$48.80	\$131,467.20
2 12" PVC WATER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING FITTINGS, COMPLETE IN PLACE	LF	1241	\$61.19	\$75,936.79	\$59.00	\$73,219.00	\$77.00	\$95,557.00
3 RESTRAINED JOINT 8" PVC, WATER LINE, AWWA C-900, DR 14, CLASS 305, ALL DEPTHS, INCLUDING ALL RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	LF	2031	\$54.48	\$110,648.88	\$53.00	\$107,643.00	\$53.75	\$109,166.25
4 RESTRAINED JOINT 12" PVC, WATER LINE, AWWA C-900, DR 14, CLASS 305, ALL DEPTHS, INCLUDING ALL RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	LF	836	\$87.66	\$73,283.76	\$91.25	\$76,285.00	\$99.15	\$82,889.40
5 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	17	\$1,942.85	\$33,028.45	\$1,500.00	\$25,500.00	\$2,003.40	\$34,057.80
6 12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	5	\$3,707.83	\$18,539.15	\$2,990.00	\$14,950.00	\$3,984.25	\$19,921.25
7 8" PLUG AND CLAMP WITH 2" BLOW OFF VALVE & BOX, COMPLETE IN PLACE	EA	5	\$740.04	\$3,700.20	\$684.00	\$3,420.00	\$594.50	\$2,972.50
8 12" PLUG AND CLAMP WITH 2" BLOW OFF VALVE & BOX, COMPLETE IN PLACE	EA	1	\$904.21	\$904.21	\$884.00	\$884.00	\$594.50	\$594.50
9 FLUSHING VALVE, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	13	\$5,033.62	\$65,437.06	\$5,618.00	\$73,034.00	\$5,641.65	\$73,341.45
10 12" STEEL CASING PIPE FOR 8" PVC PIPE, COMPLETE IN PLACE	LF	220	\$50.76	\$11,167.20	\$34.00	\$7,480.00	\$92.40	\$20,328.00
11 EXTRA COST OF DRY AUGER OF 8" WATERLINE UNDER EXISTING STORM SEWE PIPE, (TO BE USED ONLY AT THE DIRECTION OF ENGINEER), COMPLETE IN PLACE	R LF	26	\$277.68	\$7,219.68	\$55.00	\$1,430.00	\$178.35	\$4,637.10
12 WET CONNECTION (ALL SIZES), INCLUDES REMOVAL AND DISPOSAL OF EXISTING PLUG AND CLAMP & 2" BLOW-OFF VALVE & BOX AND CONNECT PROPOSED WATER LINE TO EXISTING WATER LINE, COMPLETE IN PLACE	EA	2	\$50.00	\$100.00	\$784.00	\$1,568.00	\$178.35	\$356.70
13 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	6867	\$0.01	\$68.67	\$1.00	\$6,867.00	\$0.10	\$686.70
WATER ITEMS FOR ANNISTON SECTION 10 SUBTOTAL:				\$491,656.99		\$484,145.40		\$575,975.85
WATER ITEMS FOR ANNISTON RECREATION CENTER								
1 8" PVC WATER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING FITTINGS, COMPLETE IN PLACE	LF	10	\$76.33	\$763.30	\$105.00	\$1,050.00	\$48.80	\$488.00
2 2" PVC WATER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING FITTINGS, COMPLETE IN PLACE	LF	176	\$9.82	\$1,728.32	\$22.35	\$3,933.60	\$15.65	\$2,754.40
3 2" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	1	\$869.18	\$869.18	\$500.00	\$500.00	\$970.20	\$970.20
4 2" PLUG AND CLAMP WITH 2" BLOW OFF, COMPLETE IN PLACE	EA	1	\$558.76	\$558.76	\$484.00	\$484.00	\$594.50	\$594.50
5 2" BACKFLOW PREVENTER TO BE INSTALLED AS PER MANUFACTURER SPECIFICATIONS OR APPROVED EQUAL, COMPLETE IN PLACE	EA	1	\$7,450.08	\$7,450.08	\$6,000.00	\$6,000.00	\$4,637.00	\$4,637.00
6 WET CONNECTION (ALL SIZES), TO BE INSTALLED BY THE DISTRICT OPERATOR (CLAUDINE PACIONI 281-350-0895, TNG UTILITY CORP.), INCLUDES REMOVAL AN DISPOSAL OF EXISTING PLUG AND CLAMP & 2" BLOW-OFF VALVE & BOX AND CONNECT PROPOSED WATER LINE TO EXISTING WATER LINE, COMPLETE IN PLACE	EA D	1	\$50.00	\$50.00	\$500.00	\$500.00	\$178.35	\$178.35
7 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	186	\$0.01	\$1.86	\$1.00	\$186.00	\$0.10	\$18.60
WATER ITEMS FOR ANNISTON RECREATION CENTER SUBTOTAL:				\$11,421.50		\$12,653.60		\$9,641.05
SANITARY SEWER ITEMS FOR ANNISTON SECTION 10								

FRN F-1386 LJA Engineering, Inc.

3) FELLERS AND CLARK LP

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

SANITARY SEWER ITEMS FOR ANNISTON RECREATION CENTER

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. E. MURPHY

EDA GOD NO.			ONZALEZ CONSTRUCT	ION ENTERPRISE. IN	2) DIMAS BROS. CO	ONSTRUCTION	3) FELLERS ANI	D CLARK LP
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1 8" PVC SEWER PIPE, ASTM D- 2241, SDR 26 (PR 160), 0'-8' CUT, COMPLETE IN PLACE	LF	53	\$41.46	\$2,197.38	\$45.55	\$2,414.15	\$50.10	\$2,655.30
2 8" PVC SEWER PIPE, ASTM D- 2241, SDR 26 (PR 160), 8'-12' CUT, COMPLETE IN PLACE	LF	685	\$42.03	\$28,790.55	\$45.55	\$31,201.75	\$50.10	\$34,318.50
3 8" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 12'-16' CUT, COMPLETE IN PLACE	LF	2617	\$51.67	\$135,220.39	\$56.65	\$148,253.05	\$61.85	\$161,861.45
4 "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	3240	\$60.24	\$195,177.60	\$59.20	\$191,808.00	\$52.75	\$170,910.00
5 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	24	\$1,949.17	\$46,780.08	\$1,435.00	\$34,440.00	\$1,573.95	\$37,774.80
6 STANDARD SANITARY SEWER MANHOLE, COMPLETE IN PLACE	EA	15	\$2,503.68	\$37,555.20	\$3,350.00	\$50,250.00	\$2,687.05	\$40,305.75
7 EXTRA DEPTH FOR SANITARY SEWER MANHOLE, (GREATER THAN 8' DEPTH), COMPLETE IN PLACE	VF	90	\$120.00	\$10,800.00	\$138.00	\$12,420.00	\$136.75	\$12,307.50
8 VENTED SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS COMPLETE IN PLACE	EA ,	3	\$4,723.99	\$14,171.97	\$4,200.00	\$12,600.00	\$5,302.80	\$15,908.40
9 STANDARD 8" SANITARY SEWER DROP ON MANHOLE (0"-3"), COMPLETE IN PLACE	EA	2	\$703,51	\$1,407.02	\$784.00	\$1,568.00	\$1,067.70	\$2,135.40
10 STANDARD 6" SANITARY SEWER DROP ON MANHOLE (0"-3"), COMPLETE IN PLACE	EA	1	\$451,52	\$451.52	\$484.00	\$484.00	\$661.05	\$661.05
11 EXTRA DEPTH FOR 8" SANITARY SEWER DROP, COMPLETE IN PLACE	VF	1	\$18.61	\$18.61	\$15.00	\$15.00	\$35.65	\$35.65
12 EXTRA DEPTH FOR 6" SANITARY SEWER DROP, COMPLETE IN PLACE	VF	7	\$12.79	\$89.53	\$15.00	\$105.00	\$23.80	\$166.60
13 8" SANITARY PLUG, COMPLETE IN PLACE	EA	2	\$50.00	\$100.00	\$184.00	\$368.00	\$137.90	\$275.80
14 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	ĹF	6898	\$0.01	\$68.98	\$1.00	\$6,898.00	\$0.10	\$689.80
SANITARY SEWER ITEMS FOR ANNISTON SECTION 10 SUBTOTAL:				\$472,828.83		\$492,824.95		\$480,006.00
OFF-SITE SANITARY SEWER ITEMS FOR ANNISTON SECTION 10								
1 8" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 16'-20' CUT, COMPLETE IN PLACE	LF	299	\$53.92	\$16,122.08	\$71.60	\$21,408.40	\$61.85	\$18,493.15
2 10" PVC SEWER PIPE AWWA C-900, DR 18, CLASS 235, 16'-20' CUT, COMPLETE II PLACE	l LF	170	\$70.74	\$12,025.80	\$105.65	\$17,960.50	\$85.45	\$14,526.50
3 12" PVC SEWER PIPE AWWA C-900, DR 18, CLASS 235, OVER 20" CUT, COMPLETE IN PLACE	LF	11	\$100.37	\$1,104.07	\$115.00	\$1,265.00	\$102.05	\$1,122.55
4 STANDARD SANITARY SEWER MANHOLE, COMPLETE IN PLACE	EA	2	\$2,709.12	\$5,418.24	\$3,400.00	\$6,800.00	\$2,687.05	\$5,374.10
5 12" SANITARY PLUG, COMPLETE IN PLACE	EA	1	\$100.00	\$100.00	\$200.00	\$200.00	\$288.90	\$288.90
6 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	480	\$0.01	\$4.80	\$1.00	\$480.00	\$0.10	\$48.00
OFF-SITE SANITARY SEWER ITEMS FOR ANNISTON SECTION 10 SUBTOTAL:				\$34,774.99		\$48,113.90		\$39,853.20

MAY 23, 2024 0390-2308 (9.2)

> FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024
LJA ENGINEERING, INC.
E. MURPHY

GONZALEZ CONSTRUCTION ENTERPRISE, IN

E. MURPHY MAY 23, 2024 0390-2308 (9.2)

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SDR 26, ALL DEPTH	LE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, S, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, NOUT, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., E	LF	247	\$30.86	\$7,622.42	\$48.00	\$11,856.00	\$48.35	\$11,942.45
2 SAMPLE WELL ASSI	EMBLY, COMPLETE IN PLACE	EA	1	\$2,088.28	\$2,088.28	\$8,000.00	\$8,000.00	\$3,489.60	\$3,489.60
	ED 6" PVC SEWER PIPE TO EXISTING SANITARY SEWER PRILL), COMPLETE IN PLACE	EA	1	\$1,523.88	\$1,523.88	\$384.00	\$384.00	\$1,902.35	\$1,902.35
4 TRENCH SAFETY, A	LL DEPTHS, COMPLETE IN PLACE	LF	247	\$0.01	\$2.47	\$1.00	\$247.00	\$0.10	\$24.70
SANITARY SEWER ITEMS	FOR ANNISTON RECREATION CENTER SUBTOTAL:				\$11,237.05		\$20,487.00		\$17,359.10
STORM SEWER ITEMS FO	R ANNISTON SECTION 10				<b>*</b>				
1 24" RCP STORM SEV	NER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	936	\$91.87	\$85,990.32	\$88.60	\$82,929.60	\$89.50	\$83,772.00
2 30" RCP STORM SEV	WER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	296	\$117.26	\$34,708.96	\$112.00	\$33,152.00	\$109.55	\$32,426.80
3 36" RCP STORM SEV	NER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	256	\$150.83	\$38,612.48	\$149.75	\$38,336.00	\$148.50	\$38,016.00
4 48" RCP STORM SEV	NER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	80	\$224.63	\$17,970.40	\$225.00	\$18,000.00	\$230.05	\$18,404.00
5 60" RCP STORM SE	NER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	221	\$372.05	\$82,223.05	\$375.00	\$82,875.00	\$382.40	\$84,510.40
6 66" RCP STORM SEV	WER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	51	\$479.12	\$24,435.12	\$478.00	\$24,378.00	\$493.85	\$25,186.35
7 24" POLYPROPYLEN	IE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	1644	\$63.90	\$105,051.60	\$66.15	\$108,750.60	\$68.35	\$112,367.40
8 30" POLYPROPYLEN	IE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	1367	\$80.20	\$109,633.40	\$80.25	\$109,701.75	\$84.35	\$115,306.45
9 36" POLYPROPYLEN	IE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	238	\$100.37	\$23,888.06	\$105.15	\$25,025.70	\$100.35	\$23,883.30
10 42" POLYPROPYLEN	IE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	51	\$125.97	\$6,424.47	\$116.90	\$5,961.90	\$143.00	\$7,293.00
11 48" POLYPROPYLEN	IE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	216	\$151.25	\$32,670.00	\$145.00	\$31,320.00	\$152.50	\$32,940.00
	FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, MENTS, COMPLETE IN PLACE	EA	33	\$2,501.83	\$82,560.39	\$2,784.00	\$91,872.00	\$2,333.95	\$77,020.35
	FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, MENTS, COMPLETE IN PLACE	EA	6	\$3,561.36	\$21,368.16	\$5,384.00	\$32,304.00	\$7,446.50	\$44,679.00
	WITH 'E' INLET TOP FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	3	\$3,166.28	\$9,498.84	\$3,784.00	\$11,352.00	\$3,879.60	\$11,638.80
15 STAGE I – STANDAF ALL DEPTHS, COMP	RD 5' REINFORCED CONCRETE PRECAST INLET, TYPE "B-B", LETE IN PLACE	EA	43	\$1,241.68	\$53,392.24	\$1,135.00	\$48,805.00	\$1,111.70	\$47,803.10
16 STAGE II – STANDAI ALL DEPTHS, COMP	RD 5' REINFORCED CONCRETE PRECAST INLET, TYPE "B-B", LETE IN PLACE	EA	43	\$2,184.23	\$93,921.89	\$2,050.00	\$88,150.00	\$2,473.05	\$106,341.15
17 STAGE I – STANDAF ALL DEPTHS, COMP	RD 10' REINFORCED CONCRETE PRECAST INLET, TYPE "C-1", LETE IN PLACE	EA	1	\$1,241.68	\$1,241.68	\$1,515.00	\$1,515.00	\$1,254.35	\$1,254.35
18 STAGE II – STANDAI ALL DEPTHS, COMP	RD 10' REINFORCED CONCRETE PRECAST INLET, TYPE "C-1", LETE IN PLACE	EA	1	\$2,562.38	\$2,562.38	\$2,375.00	\$2,375.00	\$3,002.15	\$3,002.15
19 STAGE I – STANDAF ALL DEPTHS, COMP	RD 15' REINFORCED CONCRETE PRECAST INLET, TYPE "C-2", LETE IN PLACE	EA	6	\$1,241.68	\$7,450.08	\$1,584.00	\$9,504.00	\$1,313.80	\$7,882.80
20 STAGE II – STANDAI ALL DEPTHS, COMP	RD 15' REINFORCED CONCRETE PRECAST INLET, TYPE "C-2", LETE IN PLACE	EA	6	\$3,307.38	\$19,844.28	\$2,665.00	\$15,990.00	\$3,721.45	\$22,328.70

Page 4 of 19 FRN F-1386 LJA Engineering, Inc.

2) DIMAS BROS. CONSTRUCTION

3) FELLERS AND CLARK LP

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024
LJA ENGINEERING, INC.
E. MURPHY
MAY 23, 2024

			GONZALEZ CONSTRUCT	TION ENTERPRISE IN	2) DIMAS BROS. C	ONSTRUCTION	3) FELLERS AN	D CLARK I P
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
21 CONTRACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE & CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	6	\$350.00	\$2,100.00	\$300.00	\$1,800.00	\$1,545.65	\$9,273.90
22 CONTRACTOR TO BREAK INTO EXISTING JUNCTION BOX & CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	D EA	2	\$1,100.00	\$2,200.00	\$500.00	\$1,000.00	\$4,755.85	\$9,511.70
23 CONTRACTOR TO REMOVE AND DISPOSE EXISTING TYPE 'E' TOP AND REPLACE WITH TYPE 'C' MANHOLE TOP, COMPLETE IN PLACE	EA	2	\$1,924.60	\$3,849.20	\$800.00	\$1,600.00	\$1,278.15	\$2,556.30
24 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	5355	\$0.01	\$53.55	\$1.00	\$5,355.00	\$0.10	\$535.50
STORM SEWER ITEMS FOR ANNISTON SECTION 10 SUBTOTAL:				\$861,650.55		\$872,052.55		\$917,933.50
STORM SEWER ITEMS FOR ANNISTON RECREATION CENTER								
1 12" HDPE STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$45.84	\$9,168.00	\$53.50	\$10,700.00	\$36.05	\$7,210.00
2 18" HDPE STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	LF	114	\$53.26	\$6,071.64	\$57.00	\$6,498.00	\$47.45	\$5,409.30
3 TYPE "A" INLET, COMPLETE IN PLACE	EA	4	\$1,969.76	\$7,879.04	\$2,384.00	\$9,536.00	\$2,288.75	\$9,155.00
4 CONTRACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE & CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	1	\$350.00	\$350.00	\$484.00	\$484.00	\$1,307.85	\$1,307.85
5 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	314	\$0.01	\$3.14	\$1.00	\$314.00	\$0.10	\$31.40
STORM SEWER ITEMS FOR ANNISTON RECREATION CENTER SUBTOTAL:				\$23,471.82		\$27,532.00		\$23,113.55
MISCELLANEOUS ITEMS								
1 DEWATERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION OF UTILITY LINES, ALL LINE SIZES AND DEPTHS, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF PUMPING AS NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF T,	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
2 WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR STORM SEWER AS PER CITY OF HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
3 WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR SANITARY SEWER AS PER CITY OF HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	R LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
4 CRUSHED STONE SUPPORT FOR MANHOLE IN UNSTABLE SUBGRADE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$5.00	\$5.00	\$150.00	\$150.00	\$5.00	\$5.00
5 ADJUSTMENT TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	8	\$150.00	\$1,200.00	\$150.00	\$1,200.00	\$150.00	\$1,200.00
6 UTILITY SPOILS FROM SECTION 10 UTILITIES TO REMAIN ON SITE, TO BE PLACED IN FRONT OF LOTS IN SECTION 10, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	D LS	1	\$5,000.00	\$5,000.00	\$26,000.00	\$26,000.00	\$23,897.60	\$23,897.60
7 EXTRA DUCTILE IRON FITTING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	TON	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
8 HYDROMULCH SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	5	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00
9 BROADCAST SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	22	\$1,000.00	\$22,000.00	\$1,000.00	\$22,000.00	\$1,000.00	\$22,000.00

0390-2308 (9.2)

Page 5 of 19 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024
LIA ENGINEEPING, INC.

2) DIMAS BROS. CONSTRUCTION

3) FELLERS AND CLARK LP

LJA ENGINEERING, INC. E. MURPHY MAY 23, 2024 0390-2308 (9.2)

GONZALEZ CONSTRUCTION ENTERPRISE, IN

				BONZALLE CONSTRUCT	ION ENTERN RIOL, IN	Z) DIWAO BROO. OC	SNOTROCTION	3) I ELLEING AIN	D CLAIR LI
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10 REGRADE EXISTING S	SWALE, COMPLETE IN PLACE	LF	180	\$2.48	\$446.40	\$3.00	\$540.00	\$11.90	\$2,142.00
11 SURFACE WATER CO COMPLETE PROJECT	NTROL AND PUMPING, INCLUDES ALL PUMPING TO COMPLETE IN PLACE	LS	1	\$100.00	\$100.00	\$500.00	\$500.00	\$1,783.45	\$1,783.45
	ILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED Y THE ENGINEER), COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
	JTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, WEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$355.35	\$355.35	\$2,080.70	\$2,080.70
14 STAGE I INLET PROTE	CTION BARRIER, COMPLETE IN PLACE	EA	57	\$10.00	\$570.00	\$10.00	\$570.00	\$11.90	\$678.30
15 FILTER FABRIC FENCI COMPLETE IN PLACE	E (TO BE USED ONLY AS DIRECTED BY THE ENGINEER),	LF	250	\$1.00	\$250.00	\$2.00	\$500.00	\$1.00	\$250.00
16 CONSTRUCT, MAINTA COMPLETE IN PLACE	IN, AND REMOVE STABILIZED CONSTRUCTION EXIT,	LS	1	\$2,000.00	\$2,000.00	\$500.00	\$500.00	\$1,486.20	\$1,486.20
TO MAINTAIN POSITIV STRIPPINGS, PLACEM	I RECREATION CENTER UTILITIES TO BE PLACED ON SITE E DRAINAGE, INCLUDES STRIPPING, STOCKPILING OF ENT & COMPACTION TO 95% STANDARD PROCTOR DING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN	LS	1	\$1,000.00	\$1,000.00	\$3,059.25	\$3,059.25	\$594.50	\$594.50
MISCELLANEOUS ITEMS SU	BTOTAL:				\$45,071.40		\$66,874.60		\$67,617.75
ALTERNATE ITEMS									
	ER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU EMS FOR ANNISTON SECTION 10-ITEM #7, COMPLETE IN	LF	1644	\$91.87	\$151,034.28	\$90.90	\$149,439.60	\$89.50	\$147,138.00
	ER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU EMS FOR ANNISTON SECTION 10-ITEM #8, COMPLETE IN	LF	1367	\$117.82	\$161,059.94	\$112.05	\$153,172.35	\$109.55	\$149,754.85
	ER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU EMS FOR ANNISTON SECTION 10-ITEM #9, COMPLETE IN	LF	238	\$151.39	\$36,030.82	\$159.05	\$37,853.90	\$148.50	\$35,343.00
	ER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU LMS FOR ANNISTON SECTION 10-ITEM #10, COMPLETE IN	LF	51	\$191.33	\$9,757.83	\$193.70	\$9,878.70	\$194.05	\$9,896.55
	ER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU EMS FOR ANNISTON SECTION 10-ITEM #11, COMPLETE IN	LF	216	\$225.76	\$48,764.16	\$232.30	\$50,176.80	\$230.05	\$49,690.80
ALTERNATE ITEMS SUBTOT	AL:				\$406,647.03		\$400,521.35		\$391,823.20
BIDDING SUMMARY									
SUBTOTAL WATER ITEMS FO	OR ANNISTON SECTION 10				\$491,656.99		\$484,145.40		\$575,975.85
SUBTOTAL WATER ITEMS FO	OR ANNISTON RECREATION CENTER				\$11,421.50		\$12,653.60		\$9,641.05
SUBTOTAL SANITARY SEWE	R ITEMS FOR ANNISTON SECTION 10				\$472,828.83		\$492,824.95		\$480,006.00
SUBTOTAL OFF-SITE SANITA	ARY SEWER ITEMS FOR ANNISTON SECTION 10				\$34,774.99		\$48,113.90		\$39,853.20
SUBTOTAL SANITARY SEWE	R ITEMS FOR ANNISTON RECREATION CENTER				\$11,237.05		\$20,487.00		\$17,359.10
SUBTOTAL STORM SEWER I	TEMS FOR ANNISTON SECTION 10				\$861,650.55		\$872,052.55		\$917,933.50
SUBTOTAL STORM SEWER I	TEMS FOR ANNISTON RECREATION CENTER				\$23,471.82		\$27,532.00		\$23,113.55
SUBTOTAL MISCELLANEOUS	SITEMS				\$45,071.40		\$66,874.60		\$67,617.75

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024
LJA ENGINEERING, INC.
E. MURPHY

E. MURPHY MAY 23, 2024 0390-2308 (9.2)

				GONZALEZ CONSTRUCTION ENTERPRISE, IN 2) DIMAS B		2) DIMAS BROS.	CONSTRUCTION	3) FELLERS AND CLARK LP	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
TOTAL AMOUNT BASE BI	D				\$1,952,113.13		\$2,024,684.00		\$2,131,500.00
ALTERNATE ITEMS									
TOTAL AMOUNT BASE BID	)				\$1,952,113.13		\$2,024,684.00		\$2,131,500.00
DEDUCT STORM SEWER I	TEMS FOR ANNISTON SECTION 10 ITEM NO.7				-\$105,051.60		-\$108,750.60		-\$112,367.40
DEDUCT STORM SEWER I	TEMS FOR ANNISTON SECTION 10 ITEM NO.8				-\$109,633.40		-\$109,701.75		-\$115,306.45
DEDUCT STORM SEWER I	TEMS FOR ANNISTON SECTION 10 ITEM NO.9				-\$23,888.06		-\$25,025.70		-\$23,883.30
DEDUCT STORM SEWER I	TEMS FOR ANNISTON SECTION 10 ITEM NO.10				-\$6,424.47		-\$5,961.90		-\$7,293.00
DEDUCT STORM SEWER I	TEMS FOR ANNISTON SECTION 10 ITEM NO.11				-\$32,670.00		-\$31,320.00		-\$32,940.00
SUBTOTAL ALTERNATE IT	EMS				\$406,647.03		\$400,521.35		\$391,823.20
TOTAL AMOUNT INCLUDI	NG ALTERNATE ITEMS				\$2,081,092.63		\$2,144,445.40		\$2,231,533.05

Page 7 of 19 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024
LJA ENGINEERING, INC.
E. MURPHY
MAY 23, 2024
0390-2308 (9.2)

				4) CE BAR	KER LTD.	5) PRINCIPAL S	ERVICES, LTD	6) KENNETH LAMB CON	STRUCTION CO.,LTD.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS FOR ANNIS	TON SECTION 10								
1 8" PVC WATER LINE, FITTINGS, COMPLET	AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING E IN PLACE	LF	2694	\$37.00	\$99,678.00	\$37.00	\$99,678.00	\$44.00	\$118,536.00
2 12" PVC WATER LINE FITTINGS, COMPLET	E, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING IE IN PLACE	LF	1241	\$57.00	\$70,737.00	\$66.00	\$81,906.00	\$68.00	\$84,388.00
	8" PVC, WATER LINE, AWWA C-900, DR 14, CLASS 305, ALL G ALL RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	LF	2031	\$57.00	\$115,767.00	\$68.00	\$138,108.00	\$70.00	\$142,170.00
	12" PVC, WATER LINE, AWWA C-900, DR 14, CLASS 305, ALL 6 ALL RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	LF	836	\$101.00	\$84,436.00	\$124.00	\$103,664.00	\$118.00	\$98,648.00
5 8" AWWA GATE VALV	/E & BOX, COMPLETE IN PLACE	EA	17	\$2,000.00	\$34,000.00	\$1,996.00	\$33,932.00	\$1,825.00	\$31,025.00
6 12" AWWA GATE VAL	VE & BOX, COMPLETE IN PLACE	EA	5	\$3,700.00	\$18,500.00	\$3,925.00	\$19,625.00	\$3,548.00	\$17,740.00
7 8" PLUG AND CLAMF	WITH 2" BLOW OFF VALVE & BOX, COMPLETE IN PLACE	EA	5	\$1,500.00	\$7,500.00	\$1,650.00	\$8,250.00	\$1,651.00	\$8,255.00
8 12" PLUG AND CLAM	P WITH 2" BLOW OFF VALVE & BOX, COMPLETE IN PLACE	EA	1	\$1,700.00	\$1,700.00	\$1,929.00	\$1,929.00	\$1,951.00	\$1,951.00
	LL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & SHING VALVE, COMPLETE IN PLACE	EA	13	\$5,750.00	\$74,750.00	\$7,013.00	\$91,169.00	\$6,317.00	\$82,121.00
10 12" STEEL CASING P	PIPE FOR 8" PVC PIPE, COMPLETE IN PLACE	LF	220	\$150.00	\$33,000.00	\$52.00	\$11,440.00	\$70.00	\$15,400.00
	Y AUGER OF 8" WATERLINE UNDER EXISTING STORM SEWER DNLY AT THE DIRECTION OF ENGINEER), COMPLETE IN	LF	26	\$85.00	\$2,210.00	\$75.00	\$1,950.00	\$155.00	\$4,030.00
EXISTING PLUG AND	ALL SIZES), INCLUDES REMOVAL AND DISPOSAL OF I CLAMP & 2" BLOW-OFF VALVE & BOX AND CONNECT LINE TO EXISTING WATER LINE, COMPLETE IN PLACE	EA	2	\$2,000.00	\$4,000.00	\$979.00	\$1,958.00	\$1,399.00	\$2,798.00
13 TRENCH SAFETY, AL	L DEPTHS, COMPLETE IN PLACE	LF	6867	\$0.01	\$68.67	\$0.10	\$686.70	\$2.00	\$13,734.00
WATER ITEMS FOR ANNIS	TON SECTION 10 SUBTOTAL:				\$546,346.67		\$594,295.70		\$620,796.00
WATER ITEMS FOR ANNIS	TON RECREATION CENTER								
1 8" PVC WATER LINE, FITTINGS, COMPLET	AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING IE IN PLACE	LF	10	\$55.00	\$550.00	\$60.00	\$600.00	\$67.00	\$670.00
2 2" PVC WATER LINE, FITTINGS, COMPLET	AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING E IN PLACE	LF	176	\$12.00	\$2,112.00	\$12.00	\$2,112.00	\$21.00	\$3,696.00
3 2" AWWA GATE VALV	/E & BOX, COMPLETE IN PLACE	EA	1	\$650.00	\$650.00	\$685.00	\$685.00	\$684.00	\$684.00
4 2" PLUG AND CLAMF	WITH 2" BLOW OFF, COMPLETE IN PLACE	EA	1	\$1,350.00	\$1,350.00	\$1,506.00	\$1,506.00	\$1,467.00	\$1,467.00
	ENTER TO BE INSTALLED AS PER MANUFACTURER R APPROVED EQUAL, COMPLETE IN PLACE	EA	1	\$3,200.00	\$3,200.00	\$5,053.00	\$5,053.00	\$4,470.00	\$4,470.00
(CLAUDINE PACION) DISPOSAL OF EXIST	ALL SIZES), TO BE INSTALLED BY THE DISTRICT OPERATOR 281-350-0895, TNG UTILITY CORP.), INCLUDES REMOVAL AND ING PLUG AND CLAMP & 2" BLOW-OFF VALVE & BOX AND ED WATER LINE TO EXISTING WATER LINE, COMPLETE IN	EA	1	\$3,000.00	\$3,000.00	\$675.00	\$675.00	\$950.00	\$950.00
7 TRENCH SAFETY, AL	L DEPTHS, COMPLETE IN PLACE	LF	186	\$0.01	\$1.86	\$0.10	\$18.60	\$2.00	\$372.00
WATER ITEMS FOR ANNIS	TON RECREATION CENTER SUBTOTAL:				\$10,863.86		\$10,649.60		\$12,309.00
SANITARY SEWER ITEMS	FOR ANNISTON SECTION 10								

Page 8 of 19 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. E. MURPHY MAY 23, 2024 0390-2308 (9.2)

LOA JOB NO.		00.	4) CE BARK	ER LTD.	5) PRINCIPAL SE	RVICES, LTD	6) KENNETH LAMB CON	STRUCTION COLTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1 8" PVC SEWER PIPE, ASTM D- 2241, SDR 26 (PR 160), 0'-8' CUT, COMPLETE PLACE	IN LF	53	\$55.00	\$2,915.00	\$43.00	\$2,279.00	\$42.00	\$2,226.00
2 8" PVC SEWER PIPE, ASTM D- 2241, SDR 26 (PR 160), 8'-12' CUT, COMPLETI PLACE	EIN LF	685	\$62.00	\$42,470.00	\$45.00	\$30,825.00	\$47.00	\$32,195.00
3 8" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 12'-16' CUT, COMPLI PLACE	ETE IN LF	2617	\$64.00	\$167,488.00	\$57.00	\$149,169.00	\$60.00	\$157,020.00
4 "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-22-SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISTACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMIN PLACE	SER,	3240	\$55.00	\$178,200.00	\$46.00	\$149,040.00	\$60.00	\$194,400.00
5 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2 SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RIS STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMI IN PLACE	SER,	24	\$2,150.00	\$51,600.00	\$2,260.00	\$54,240.00	\$1,639.00	\$39,336.00
6 STANDARD SANITARY SEWER MANHOLE, COMPLETE IN PLACE	EA	15	\$3,050.00	\$45,750.00	\$5,258.00	\$78,870.00	\$3,101.00	\$46,515.00
7 EXTRA DEPTH FOR SANITARY SEWER MANHOLE, (GREATER THAN 8' DEPT COMPLETE IN PLACE	TH), VF	90	\$211.00	\$18,990.00	\$204.00	\$18,360.00	\$245.00	\$22,050.00
8 VENTED SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPE DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTM COMPLETE IN PLACE		3	\$5,500.00	\$16,500.00	\$5,504.00	\$16,512.00	\$6,491.00	\$19,473.00
9 STANDARD 8" SANITARY SEWER DROP ON MANHOLE (0'-3'), COMPLETE IN PLACE	N EA	2	\$1,200.00	\$2,400.00	\$986.00	\$1,972.00	\$1,429.00	\$2,858.00
10 STANDARD 6" SANITARY SEWER DROP ON MANHOLE (0'-3'), COMPLETE IN PLACE	N EA	1	\$950.00	\$950.00	\$653.00	\$653.00	\$957.00	\$957.00
11 EXTRA DEPTH FOR 8" SANITARY SEWER DROP, COMPLETE IN PLACE	VF	1	\$53.00	\$53.00	\$52.00	\$52.00	\$70.00	\$70.00
12 EXTRA DEPTH FOR 6" SANITARY SEWER DROP, COMPLETE IN PLACE	VF	7	\$48.00	\$336.00	\$46.00	\$322.00	\$70.00	\$490.00
13 8" SANITARY PLUG, COMPLETE IN PLACE	EA	2	\$200.00	\$400.00	\$130.00	\$260.00	\$212.00	\$424.00
14 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	ĹF	6898	\$0.01	\$68.98	\$0.10	\$689.80	\$2.00	\$13,796.00
SANITARY SEWER ITEMS FOR ANNISTON SECTION 10 SUBTOTAL:				\$528,120.98		\$503,243.80		\$531,810.00
OFF-SITE SANITARY SEWER ITEMS FOR ANNISTON SECTION 10								
1 8" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 16'-20' CUT, COMPLE PLACE	TE IN LF	299	\$65.00	\$19,435.00	\$62.00	\$18,538.00	\$71.00	\$21,229.00
2 10" PVC SEWER PIPE AWWA C-900, DR 18, CLASS 235, 16'-20' CUT, COMPL PLACE	ETE IN LF	170	\$74.00	\$12,580.00	\$116.00	\$19,720.00	\$113.00	\$19,210.00
3 12" PVC SEWER PIPE AWWA C-900, DR 18, CLASS 235, OVER 20 CUT, COMPLETE IN PLACE	LF	11	\$119.00	\$1,309.00	\$149.00	\$1,639.00	\$115.00	\$1,265.00
4 STANDARD SANITARY SEWER MANHOLE, COMPLETE IN PLACE	EA	2	\$4,800.00	\$9,600.00	\$5,390.00	\$10,780.00	\$6,894.00	\$13,788.00
5 12" SANITARY PLUG, COMPLETE IN PLACE	EA	1	\$575.00	\$575.00	\$927.00	\$927.00	\$1,061.00	\$1,061.00
6 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	480	\$0.01	\$4.80	\$0.10	\$48.00	\$2.00	\$960.00
OFF-SITE SANITARY SEWER ITEMS FOR ANNISTON SECTION 10 SUBTOTAL:				\$43,503.80		\$51,652.00		\$57,513.00
SANITARY SEWER ITEMS FOR ANNISTON RECREATION CENTER								

FRN F-1386 Page 9 of 19 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. E. MURPHY MAY 23, 2024 0390-2308 (9.2)

LJA JOB NO.		038	90-2308 (9.2)					
			4) CE BARK		5) PRINCIPAL SI	ERVICES, LTD	6) KENNETH LAMB CON	STRUCTION CO.,LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1 "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, CLEANOUT, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	247	\$54.00	\$13,338.00	\$38.00	\$9,386.00	\$45.00	\$11,115.00
2 SAMPLE WELL ASSEMBLY, COMPLETE IN PLACE	EA	1	\$534.60	\$534.60	\$7,521.00	\$7,521.00	\$6,373.00	\$6,373.00
3 CONNECT PROPOSED 6" PVC SEWER PIPE TO EXISTING SANITARY SEWER MANHOLE, (CORE DRILL), COMPLETE IN PLACE	EA	1	\$1,244.76	\$1,244.76	\$550.00	\$550.00	\$1,800.00	\$1,800.00
4 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	247	\$0.01	\$2.47	\$0.10	\$24.70	\$2.00	\$494.00
SANITARY SEWER ITEMS FOR ANNISTON RECREATION CENTER SUBTOTAL:				\$15,119.83		\$17,481.70		\$19,782.00
STORM SEWER ITEMS FOR ANNISTON SECTION 10								
1 24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	936	\$94.00	\$87,984.00	\$94.00	\$87,984.00	\$82.00	\$76,752.00
2 30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	296	\$115.00	\$34,040.00	\$120.00	\$35,520.00	\$104.00	\$30,784.00
3 36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	256	\$155.00	\$39,680.00	\$175.00	\$44,800.00	\$146.00	\$37,376.00
4 48" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	80	\$240.00	\$19,200.00	\$276.00	\$22,080.00	\$234.00	\$18,720.00
5 60" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	221	\$410.00	\$90,610.00	\$467.00	\$103,207.00	\$384.00	\$84,864.00
6 66" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	51	\$560.00	\$28,560.00	\$591.00	\$30,141.00	\$487.00	\$24,837.00
7 24" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	1644	\$78.00	\$128,232.00	\$83.00	\$136,452.00	\$67.00	\$110,148.00
8 30" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	1367	\$102.00	\$139,434.00	\$100.00	\$136,700.00	\$89.00	\$121,663.00
9 36" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	238	\$120.00	\$28,560.00	\$121.00	\$28,798.00	\$105.00	\$24,990.00
10 42" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	51	\$150.00	\$7,650.00	\$154.00	\$7,854.00	\$132.00	\$6,732.00
11 48" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	216	\$175.00	\$37,800.00	\$187.00	\$40,392.00	\$166.00	\$35,856.00
12 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	33	\$3,050.00	\$100,650.00	\$3,105.00	\$102,465.00	\$3,401.00	\$112,233.00
13 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	6	\$9,100.00	\$54,600.00	\$4,999.00	\$29,994.00	\$6,281.00	\$37,686.00
14 TYPE "C" MANHOLE WITH 'E' INLET TOP FOR 42" STORM SEWER AND SMALLER, (ALL SIDES OPEN), ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	3	\$3,400.00	\$10,200.00	\$5,040.00	\$15,120.00	\$4,956.00	\$14,868.00
15 STAGE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET, TYPE 'B-B', ALL DEPTHS, COMPLETE IN PLACE	EA	43	\$1,300.00	\$55,900.00	\$1,483.00	\$63,769.00	\$1,451.00	\$62,393.00
16 STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST INLET, TYPE "B-B", ALL DEPTHS, COMPLETE IN PLACE	EA	43	\$1,750.00	\$75,250.00	\$2,842.00	\$122,206.00	\$2,601.00	\$111,843.00
17 STAGE I – STANDARD 10' REINFORCED CONCRETE PRECAST INLET, TYPE "C-1", ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,250.00	\$1,250.00	\$1,544.00	\$1,544.00	\$1,451.00	\$1,451.00
18 STAGE II – STANDARD 10' REINFORCED CONCRETE PRECAST INLET, TYPE "C-1", ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,200.00	\$3,200.00	\$2,525.00	\$2,525.00	\$3,386.00	\$3,386.00
19 STAGE I – STANDARD 15' REINFORCED CONCRETE PRECAST INLET, TYPE "C-2", ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$1,500.00	\$9,000.00	\$1,544.00	\$9,264.00	\$1,451.00	\$8,706.00
20 STAGE II – STANDARD 15' REINFORCED CONCRETE PRECAST INLET, TYPE "C-2", ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$3,450.00	\$20,700.00	\$2,951.00	\$17,706.00	\$4,136.00	\$24,816.00

FRN F-1386 Page 10 of 19 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. E. MURPHY MAY 23, 2024 0390-2308 (9.2)

LJA JOB NO.		03						
			4) CE BARK		5) PRINCIPAL SE		6) KENNETH LAMB CON	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
21 CONTRACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE & CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	6	\$2,100.00	\$12,600.00	\$347.00	\$2,082.00	\$900.00	\$5,400.00
22 CONTRACTOR TO BREAK INTO EXISTING JUNCTION BOX & CONNECT PROP STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	OSED EA	2	\$2,100.00	\$4,200.00	\$347.00	\$694.00	\$1,200.00	\$2,400.00
23 CONTRACTOR TO REMOVE AND DISPOSE EXISTING TYPE 'E' TOP AND REPL WITH TYPE 'C' MANHOLE TOP, COMPLETE IN PLACE	LACE EA	2	\$10.00	\$20.00	\$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00
24 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	5355	\$0.01	\$53.55	\$0.10	\$535.50	\$2.00	\$10,710.00
STORM SEWER ITEMS FOR ANNISTON SECTION 10 SUBTOTAL:				\$989,373.55		\$1,043,832.50		\$971,014.00
STORM SEWER ITEMS FOR ANNISTON RECREATION CENTER								
1 12" HDPE STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$41.00	\$8,200.00	\$33.00	\$6,600.00	\$30.00	\$6,000.00
2 18" HDPE STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	LF	114	\$49.00	\$5,586.00	\$47.00	\$5,358.00	\$87.00	\$9,918.00
3 TYPE "A" INLET, COMPLETE IN PLACE	EA	4	\$1,750.00	\$7,000.00	\$2,942.00	\$11,768.00	\$2,426.00	\$9,704.00
4 CONTRACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE & CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$345.00	\$345.00	\$900.00	\$900.00
5 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	314	\$0.01	\$3.14	\$0.10	\$31.40	\$2.00	\$628.00
STORM SEWER ITEMS FOR ANNISTON RECREATION CENTER SUBTOTAL:				\$22,789.14		\$24,102.40		\$27,150.00
MISCELLANEOUS ITEMS								
1 DEWATERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCT OF UTILITY LINES, ALL LINE SIZES AND DEPTHS, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE PUMPING AS NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PRO (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	- E OF DJECT,	100	\$20.00	\$2,000.00	\$30.00	\$3,000.00	\$20.00	\$2,000.00
2 WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR STORM SEWER AS PECITY OF HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AS DIRECTED THE ENGINEER), COMPLETE IN PLACE		100	\$58.00	\$5,800.00	\$5.00	\$500.00	\$5.00	\$500.00
3 WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR SANITARY SEWER AS CITY OF HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AS DIRECTED THE ENGINEER), COMPLETE IN PLACE		100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
4 CRUSHED STONE SUPPORT FOR MANHOLE IN UNSTABLE SUBGRADE (TO B USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	BE EA	1	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00
5 ADJUSTMENT TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDE LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOI (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LES,	8	\$150.00	\$1,200.00	\$150.00	\$1,200.00	\$150.00	\$1,200.00
6 UTILITY SPOILS FROM SECTION 10 UTILITIES TO REMAIN ON SITE, TO BE PL IN FRONT OF LOTS IN SECTION 10, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLET PLACE		1	\$45,700.00	\$45,700.00	\$1,000.00	\$1,000.00	\$8,000.00	\$8,000.00
7 EXTRA DUCTILE IRON FITTING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	TON	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
8 HYDROMULCH SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEE COMPLETE IN PLACE	ER), AC	5	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00
9 BROADCAST SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER COMPLETE IN PLACE	R), AC	22	\$1,000.00	\$22,000.00	\$1,000.00	\$22,000.00	\$1,000.00	\$22,000.00

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024
LJA ENGINEERING, INC.
E. MURPHY
MAY 23, 2024
0390-2308 (9.2)

LUA VOD NO.		000	4) CE BARK	ER I TD	5) PRINCIPAL SE	RVICES LTD	6) KENNETH LAMB CON	STRUCTION CO. LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10 REGRADE EXISTING SWALE, COMPLETE IN PLACE	LF	180	\$8.00	\$1,440.00	\$3.00	\$540.00	\$7.00	\$1,260.00
11 SURFACE WATER CONTROL AND PUMPING, INCLUDES ALL PUMPING TO COMPLETE PROJECT, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$100.00	\$100.00	\$1,500.00	\$1,500.00
12 EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
13 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00
14 STAGE I INLET PROTECTION BARRIER, COMPLETE IN PLACE	EA	57	\$70.00	\$3,990.00	\$0.10	\$5.70	\$150.00	\$8,550.00
15 FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	250	\$1.00	\$250.00	\$2.00	\$500.00	\$1.00	\$250.00
16 CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00
17 UTILITY SPOILS FROM RECREATION CENTER UTILITIES TO BE PLACED ON SITE TO MAINTAIN POSITIVE DRAINAGE, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$200.00	\$200.00	\$1,000.00	\$1,000.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$93,885.00		\$39,550.70		\$58,765.00
ALTERNATE ITEMS								
1 24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF STORM SEWER ITEMS FOR ANNISTON SECTION 10-ITEM #7, COMPLETE IN PLACE	LF	1644	\$100.00	\$164,400.00	\$92.00	\$151,248.00	\$82.00	\$134,808.00
2 30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF STORM SEWER ITEMS FOR ANNISTON SECTION 10-ITEM #8, COMPLETE IN PLACE	LF	1367	\$125.00	\$170,875.00	\$120.00	\$164,040.00	\$104.00	\$142,168.00
3 36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF STORM SEWER ITEMS FOR ANNISTON SECTION 10-ITEM #9, COMPLETE IN PLACE	LF	238	\$160.00	\$38,080.00	\$175.00	\$41,650.00	\$146.00	\$34,748.00
4 42" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF STORM SEWER ITEMS FOR ANNISTON SECTION 10-ITEM #10, COMPLETE IN PLACE	LF	51	\$215.00	\$10,965.00	\$233.00	\$11,883.00	\$193.00	\$9,843.00
5 48" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF STORM SEWER ITEMS FOR ANNISTON SECTION 10-ITEM #11, COMPLETE IN PLACE	LF	216	\$245.00	\$52,920.00	\$275.00	\$59,400.00	\$234.00	\$50,544.00
ALTERNATE ITEMS SUBTOTAL:				\$437,240.00		\$428,221.00		\$372,111.00
BIDDING SUMMARY								
SUBTOTAL WATER ITEMS FOR ANNISTON SECTION 10				\$546,346.67		\$594,295.70		\$620,796.00
SUBTOTAL WATER ITEMS FOR ANNISTON RECREATION CENTER				\$10,863.86		\$10,649.60		\$12,309.00
SUBTOTAL SANITARY SEWER ITEMS FOR ANNISTON SECTION 10				\$528,120.98		\$503,243.80		\$531,810.00
SUBTOTAL OFF-SITE SANITARY SEWER ITEMS FOR ANNISTON SECTION 10				\$43,503.80		\$51,652.00		\$57,513.00
SUBTOTAL SANITARY SEWER ITEMS FOR ANNISTON RECREATION CENTER				\$15,119.83		\$17,481.70		\$19,782.00
SUBTOTAL STORM SEWER ITEMS FOR ANNISTON SECTION 10				\$989,373.55		\$1,043,832.50		\$971,014.00
SUBTOTAL STORM SEWER ITEMS FOR ANNISTON RECREATION CENTER				\$22,789.14		\$24,102.40		\$27,150.00
SUBTOTAL MISCELLANEOUS ITEMS				\$93,885.00		\$39,550.70		\$58,765.00

Page 12 of 19 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024
LJA ENGINEERING, INC.
E. MURPHY
MAY 23, 2024

			4) CE BARKER LTD.		5) PRINCIPAL SERVICES, LTD		6) KENNETH LAMB CONSTRUCTION CO.,LTD.	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
TOTAL AMOUNT BASE BID				\$2,250,002.83		\$2,284,808.40		\$2,299,139.00
ALTERNATE ITEMS								
TOTAL AMOUNT BASE BID				\$2,250,002.83		\$2,284,808.40	•	\$2,299,139.00
DEDUCT STORM SEWER ITEMS FOR ANNISTON SECTION 10 ITEM NO.7				-\$128,232.00		-\$136,452.00		-\$110,148.00
DEDUCT STORM SEWER ITEMS FOR ANNISTON SECTION 10 ITEM NO.8				-\$139,434.00		-\$136,700.00		-\$121,663.00
DEDUCT STORM SEWER ITEMS FOR ANNISTON SECTION 10 ITEM NO.9				-\$28,560.00		-\$28,798.00		-\$24,990.00
DEDUCT STORM SEWER ITEMS FOR ANNISTON SECTION 10 ITEM NO.10				-\$7,650.00		-\$7,854.00		-\$6,732.00
DEDUCT STORM SEWER ITEMS FOR ANNISTON SECTION 10 ITEM NO.11				-\$37,800.00		-\$40,392.00		-\$35,856.00
SUBTOTAL ALTERNATE ITEMS				\$437,240.00		\$428,221.00		\$372,111.00
TOTAL AMOUNT INCLUDING ALTERNATE ITEMS				\$2,345,566.83		\$2,362,833.40		\$2,371,861.00

0390-2308 (9.2)

Page 13 of 19 FRN F-1366 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

SANITARY SEWER ITEMS FOR ANNISTON SECTION 10

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024
LJA ENGINEERING, INC.
E. MURPHY
MAY 23, 2024

0390-2308 (9.2)

7) BLAZEY CONSTRUCTION SERVICES LLC 8) R CONSTRUCTION CIVIL, LLC UNIT COST UNIT COST TOTAL COST DESCRIPTION UNIT QTY TOTAL COST WATER ITEMS FOR ANNISTON SECTION 10 1 8" PVC WATER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING LF 2694 \$35.00 \$94,290.00 \$37.00 \$99,678.00 FITTINGS, COMPLETE IN PLACE 2 12" PVC WATER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING \$60.00 \$74,460.00 \$58.00 \$71,978.00 1241 FITTINGS, COMPLETE IN PLACE 3 RESTRAINED JOINT 8" PVC. WATER LINE, AWWA C-900, DR 14, CLASS 305, ALL LF \$70.00 2031 \$65.00 \$132,015.00 \$142,170.00 DEPTHS, INCLUDING ALL RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE 4 RESTRAINED JOINT 12" PVC, WATER LINE, AWWA C-900, DR 14, CLASS 305, ALL LF 836 \$113.00 \$94 468 00 \$110.00 \$91,960,00 DEPTHS, INCLUDING ALL RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE 5 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE EΑ 17 \$1,950.00 \$33,150.00 \$2,000.00 \$34,000.00 6 12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE EΑ 5 \$18,250.00 \$3,700.00 \$3,650.00 \$18,500.00 7 8" PLUG AND CLAMP WITH 2" BLOW OFF VALVE & BOX, COMPLETE IN PLACE FΑ 5 \$2,000,00 \$10,000,00 \$1,400,00 \$7,000,00 8 12" PLUG AND CLAMP WITH 2" BLOW OFF VALVE & BOX, COMPLETE IN PLACE EΑ \$2,200.00 \$2,200.00 \$1,500.00 \$1,500.00 9 FLUSHING VALVE, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & 13 \$6,200.00 \$80,600,00 \$5.950.00 \$77.350.00 BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE 10 12" STEEL CASING PIPE FOR 8" PVC PIPE. COMPLETE IN PLACE 1 F 220 \$95.00 \$20,900,00 \$50.00 \$11,000.00 11 EXTRA COST OF DRY AUGER OF 8" WATERLINE UNDER EXISTING STORM SEWER \$280.00 \$7,280.00 \$125.00 26 \$3,250.00 PIPE, (TO BE USED ONLY AT THE DIRECTION OF ENGINEER), COMPLETE IN PLACE 12 WET CONNECTION (ALL SIZES), INCLUDES REMOVAL AND DISPOSAL OF EΑ \$900.00 \$1,800.00 \$600.00 \$1,200.00 EXISTING PLUG AND CLAMP & 2" BLOW-OFF VALVE & BOX AND CONNECT PROPOSED WATER LINE TO EXISTING WATER LINE. COMPLETE IN PLACE 13 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE LF \$0.11 \$755.37 \$0.10 \$686.70 6867 WATER ITEMS FOR ANNISTON SECTION 10 SUBTOTAL: \$570,168.37 \$560,272.70 WATER ITEMS FOR ANNISTON RECREATION CENTER 1 8" PVC WATER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING \$110.00 \$60.00 \$600.00 10 \$1,100.00 FITTINGS, COMPLETE IN PLACE 2 2" PVC WATER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING LF 176 \$21.00 \$3,696.00 \$18.50 \$3,256.00 FITTINGS, COMPLETE IN PLACE 3 2" AWWA GATE VALVE & BOX, COMPLETE IN PLACE \$700.00 \$800.00 \$800.00 EA \$700.00 4 2" PLUG AND CLAMP WITH 2" BLOW OFF, COMPLETE IN PLACE FA \$1,600.00 \$1,600.00 \$1,250.00 \$1,250.00 5 2" BACKFLOW PREVENTER TO BE INSTALLED AS PER MANUFACTURER EΑ \$400.00 \$400.00 \$5,500.00 \$5.500.00 SPECIFICATIONS OR APPROVED EQUAL, COMPLETE IN PLACE 6 WET CONNECTION (ALL SIZES), TO BE INSTALLED BY THE DISTRICT OPERATOR \$1,700.00 \$1,700.00 \$350.00 \$350.00 (CLAUDINE PACIONI 281-350-0895, TNG UTILITY CORP.), INCLUDES REMOVAL AND DISPOSAL OF EXISTING PLUG AND CLAMP & 2" BLOW-OFF VALVE & BOX AND CONNECT PROPOSED WATER LINE TO EXISTING WATER LINE, COMPLETE IN 7 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE 186 \$0.11 \$20.46 \$0.10 \$18.60 WATER ITEMS FOR ANNISTON RECREATION CENTER SUBTOTAL: \$9,216.46 \$11,774.60

Page 14 of 19

FRN F-1386

LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024
LJA ENGINEERING, INC.
E. MURPHY
MAY 23, 2024
0390-2308 (9.2)

8) R CONSTRUCTION CIVIL, LLC

7) BLAZEY CONSTRUCTION SERVICES LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	8" PVC SEWER PIPE, ASTM D- 2241, SDR 26 (PR 160), 0'-8' CUT, COMPLETE IN PLACE	LF	53	\$45.00	\$2,385.00	\$45.50	\$2,411.50
	8" PVC SEWER PIPE, ASTM D- 2241, SDR 26 (PR 160), 8'-12' CUT, COMPLETE IN PLACE	LF	685	\$47.00	\$32,195.00	\$46.75	\$32,023.75
	8" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 12'-16' CUT, COMPLETE IN PLACE	LF	2617	\$56.00	\$146,552.00	\$50.50	\$132,158.50
\$	"LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	3240	\$63.00	\$204,120.00	\$78.00	\$252,720.00
\$	"SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	24	\$2,100.00	\$50,400.00	\$2,050.00	\$49,200.00
6 9	STANDARD SANITARY SEWER MANHOLE, COMPLETE IN PLACE	EA	15	\$3,600.00	\$54,000.00	\$2,800.00	\$42,000.00
	EXTRA DEPTH FOR SANITARY SEWER MANHOLE, (GREATER THAN 8' DEPTH), COMPLETE IN PLACE	VF	90	\$220.00	\$19,800.00	\$200.00	\$18,000.00
[	VENTED SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (6' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	3	\$7,400.00	\$22,200.00	\$5,650.00	\$16,950.00
	STANDARD 8" SANITARY SEWER DROP ON MANHOLE (0'-3'), COMPLETE IN PLACE	EA	2	\$1,300.00	\$2,600.00	\$600.00	\$1,200.00
	STANDARD 6" SANITARY SEWER DROP ON MANHOLE (0'-3'), COMPLETE IN PLACE	EA	1	\$900.00	\$900.00	\$350.00	\$350.00
11 8	EXTRA DEPTH FOR 8" SANITARY SEWER DROP, COMPLETE IN PLACE	VF	1	\$60.00	\$60.00	\$15.00	\$15.00
12 [	EXTRA DEPTH FOR 6" SANITARY SEWER DROP, COMPLETE IN PLACE	VF	7	\$54.00	\$378.00	\$10.00	\$70.00
13 8	8" SANITARY PLUG, COMPLETE IN PLACE	EA	2	\$160.00	\$320.00	\$100.00	\$200.00
14	TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	ĹF	6898	\$0.11	\$758.78	\$0.10	\$689.80
SANITA	ARY SEWER ITEMS FOR ANNISTON SECTION 10 SUBTOTAL:				\$536,668.78		\$547,988.55
OFF-SI	ITE SANITARY SEWER ITEMS FOR ANNISTON SECTION 10						
	8" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 16'-20' CUT, COMPLETE IN PLACE	LF	299	\$88.00	\$26,312.00	\$56.00	\$16,744.00
	10° PVC SEWER PIPE AWWA C-900, DR 18, CLASS 235, 16'-20' CUT, COMPLETE IN PLACE	LF	170	\$100.00	\$17,000.00	\$67.00	\$11,390.00
	12" PVC SEWER PIPE AWWA C-900, DR 18, CLASS 235, OVER 20' CUT. COMPLETE IN PLACE	LF	11	\$250.00	\$2,750.00	\$118.00	\$1,298.00
4 5	STANDARD SANITARY SEWER MANHOLE, COMPLETE IN PLACE	EA	2	\$4,400.00	\$8,800.00	\$2,800.00	\$5,600.00
5	12" SANITARY PLUG, COMPLETE IN PLACE	EA	1	\$220.00	\$220.00	\$450.00	\$450.00
6	TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	480	\$6.00	\$2,880.00	\$0.10	\$48.00
OFF-SI	ITE SANITARY SEWER ITEMS FOR ANNISTON SECTION 10 SUBTOTAL:				\$57,962.00		\$35,530.00
SANITA	ARY SEWER ITEMS FOR ANNISTON RECREATION CENTER						

Page 15 of 19 FRN F-1366 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024
LJA ENGINEERING, INC.
E. MURPHY
MAY 23, 2024

8) R CONSTRUCTION CIVIL, LLC

7) BLAZEY CONSTRUCTION SERVICES LLC

0390-2308 (9.2)

				1) BEAZET CONSTITUC	TION SERVICES LEC	0)11 0011011100	HON CIVIL, LEC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
:	"LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, CLEANOUT, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	247	\$69.00	\$17,043.00	\$37.00	\$9,139.00
2	SAMPLE WELL ASSEMBLY, COMPLETE IN PLACE	EA	1	\$1,400.00	\$1,400.00	\$2,500.00	\$2,500.00
	CONNECT PROPOSED 6° PVC SEWER PIPE TO EXISTING SANITARY SEWER MANHOLE, (CORE DRILL), COMPLETE IN PLACE	EA	1	\$2,100.00	\$2,100.00	\$1,700.00	\$1,700.00
4	TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	247	\$2.00	\$494.00	\$0.10	\$24.70
SANIT	ARY SEWER ITEMS FOR ANNISTON RECREATION CENTER SUBTOTAL:				\$21,037.00		\$13,363.70
STORI	M SEWER ITEMS FOR ANNISTON SECTION 10						
1 :	24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	936	\$89.00	\$83,304.00	\$90.00	\$84,240.00
2	30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	296	\$112.00	\$33,152.00	\$125.00	\$37,000.00
3	36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	256	\$159.00	\$40,704.00	\$165.00	\$42,240.00
4	48" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	80	\$257.00	\$20,560.00	\$270.00	\$21,600.00
5	60" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	221	\$435.00	\$96,135.00	\$440.00	\$97,240.00
6	66" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	51	\$555.00	\$28,305.00	\$560.00	\$28,560.00
7	24" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	1644	\$67.00	\$110,148.00	\$70.00	\$115,080.00
8	30" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	1367	\$90.00	\$123,030.00	\$105.00	\$143,535.00
9 :	36" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	238	\$105.00	\$24,990.00	\$117.00	\$27,846.00
10	42" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	51	\$140.00	\$7,140.00	\$155.00	\$7,905.00
11 -	48" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	216	\$170.00	\$36,720.00	\$370.00	\$79,920.00
	TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	33	\$3,500.00	\$115,500.00	\$3,050.00	\$100,650.00
	TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	6	\$10,300.00	\$61,800.00	\$9,775.00	\$58,650.00
	TYPE "C" MANHOLE WITH 'E' INLET TOP FOR 42" STORM SEWER AND SMALLER, (ALL SIDES OPEN), ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	3	\$4,100.00	\$12,300.00	\$3,500.00	\$10,500.00
	STAGE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET, TYPE "B-B", ALL DEPTHS, COMPLETE IN PLACE	EA	43	\$1,600.00	\$68,800.00	\$1,300.00	\$55,900.00
	STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST INLET, TYPE "B-B", ALL DEPTHS, COMPLETE IN PLACE	EA	43	\$2,450.00	\$105,350.00	\$3,000.00	\$129,000.00
	STAGE I – STANDARD 10' REINFORCED CONCRETE PRECAST INLET, TYPE "C-1", ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,600.00	\$1,600.00	\$1,250.00	\$1,250.00
	STAGE II – STANDARD 10' REINFORCED CONCRETE PRECAST INLET, TYPE "C-1", ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
	STAGE I – STANDARD 15' REINFORCED CONCRETE PRECAST INLET, TYPE "C-2", ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$2,000.00	\$12,000.00	\$1,500.00	\$9,000.00
	STAGE II – STANDARD 15' REINFORCED CONCRETE PRECAST INLET, TYPE "C-2", ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$3,250.00	\$19,500.00	\$2,500.00	\$15,000.00

Page 16 of 19 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024
LJA ENGINEERING, INC.
E. MURPHY
MAY 23, 2024
0390-2308 (9.2)

			•	()			
			7	7) BLAZEY CONSTRUC	CTION SERVICES LLC	8) R CONSTRUC	TION CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
21	CONTRACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE & CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	6	\$740.00	\$4,440.00	\$650.00	\$3,900.00
22	CONTRACTOR TO BREAK INTO EXISTING JUNCTION BOX & CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	2	\$850.00	\$1,700.00	\$650.00	\$1,300.00
23	CONTRACTOR TO REMOVE AND DISPOSE EXISTING TYPE 'E' TOP AND REPLACE WITH TYPE 'C' MANHOLE TOP, COMPLETE IN PLACE	EA	2	\$570.00	\$1,140.00	\$2,400.00	\$4,800.00
24	TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	5355	\$0.11	\$589.05	\$0.10	\$535.50
STO	RM SEWER ITEMS FOR ANNISTON SECTION 10 SUBTOTAL:				\$1,011,407.05		\$1,078,151.50
STO	RM SEWER ITEMS FOR ANNISTON RECREATION CENTER						
1	12" HDPE STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$42.00	\$8,400.00	\$37.00	\$7,400.00
2	18" HDPE STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	LF	114	\$52.00	\$5,928.00	\$46.00	\$5,244.00
3	TYPE "A" INLET, COMPLETE IN PLACE	EA	4	\$2,300.00	\$9,200.00	\$2,100.00	\$8,400.00
4	CONTRACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE & CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$650.00	\$650.00
5	TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	314	\$2.00	\$628.00	\$0.10	\$31.40
STO	RM SEWER ITEMS FOR ANNISTON RECREATION CENTER SUBTOTAL:				\$24,656.00		\$21,725.40
MISC	CELLANEOUS ITEMS						
1	DEWATERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION OF UTILITY LINES, ALL LINE SIZES AND DEPTHS, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF PUMPING AS NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$30.00	\$3,000.00	\$30.00	\$3,000.00
2	WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR STORM SEWER AS PER CITY OF HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$23.00	\$2,300.00	\$15.00	\$1,500.00
3	WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR SANITARY SEWER AS PER CITY OF HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$14.00	\$1,400.00	\$15.00	\$1,500.00
4	CRUSHED STONE SUPPORT FOR MANHOLE IN UNSTABLE SUBGRADE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$250.00	\$250.00
5	ADJUSTMENT TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	8	\$250.00	\$2,000.00	\$150.00	\$1,200.00
6	UTILITY SPOILS FROM SECTION 10 UTILITIES TO REMAIN ON SITE, TO BE PLACED IN FRONT OF LOTS IN SECTION 10, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$22,000.00	\$22,000.00	\$9,500.00	\$9,500.00
7	EXTRA DUCTILE IRON FITTING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	TON	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
8	HYDROMULCH SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	5	\$2,100.00	\$10,500.00	\$1,500.00	\$7,500.00
9	BROADCAST SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	22	\$1,000.00	\$22,000.00	\$1,000.00	\$22,000.00

Page 17 of 19 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024
LJA ENGINEERING, INC.
E. MURPHY

8) R CONSTRUCTION CIVIL, LLC

7) BLAZEY CONSTRUCTION SERVICES LLC

MAY 23, 2024 0390-2308 (9.2)

	1,440.00
11 SURFACE WATER CONTROL AND PUMPING, INCLUDES ALL PUMPING TO LS 1 \$5,200.00 \$10,000.00 \$1	0,000.00
COMPLETE PROJECT, COMPLETE IN PLACE	
12 EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED CY 100 \$40.00 \$4,000.00 \$45.00 \$ ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	4,500.00
13 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, LS 1 \$1,700.00 \$1,700.00 \$2,500.00 \$ INCLUDING STREET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	2,500.00
14 STAGE I INLET PROTECTION BARRIER, COMPLETE IN PLACE EA 57 \$57.00 \$3,249.00 \$55.00 \$	3,135.00
15 FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), LF 250 \$2.90 \$725.00 \$2.50 COMPLETE IN PLACE	\$625.00
16 CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, LS 1 \$2,100.00 \$2,100.00 \$1,500.00 \$  COMPLETE IN PLACE	1,500.00
17 UTILITY SPOILS FROM RECREATION CENTER UTILITIES TO BE PLACED ON SITE LS 1 \$2,900.00 \$2,900.00 \$2,000.00 \$ TO MAINTAIN POSITIVE DRAINAGE, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	2,000.00
MISCELLANEOUS ITEMS SUBTOTAL: \$85,704.00 \$7	3,650.00
ALTERNATE ITEMS	
1 24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU LF 1644 \$88.00 \$144,672.00 \$90.00 \$14 OF STORM SEWER ITEMS FOR ANNISTON SECTION 10-ITEM #7, COMPLETE IN PLACE	7,960.00
2 30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU LF 1367 \$111.00 \$151,737.00 \$125.00 \$170 OF STORM SEWER ITEMS FOR ANNISTON SECTION 10-ITEM #8, COMPLETE IN PLACE	0,875.00
3 36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU LF 238 \$158.00 \$37,604.00 \$165.00 \$3 OF STORM SEWER ITEMS FOR ANNISTON SECTION 10-ITEM #9, COMPLETE IN PLACE	9,270.00
4 42" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU LF 51 \$217.00 \$11,067.00 \$210.00 \$11,067.00 \$210.00 \$11,067.00 \$11,	0,710.00
5 48" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU LF 216 \$257.00 \$55,512.00 \$270.00 \$5 OF STORM SEWER ITEMS FOR ANNISTON SECTION 10-ITEM #11, COMPLETE IN PLACE	3,320.00
ALTERNATE ITEMS SUBTOTAL: \$400,592.00 \$42	7,135.00
BIDDING SUMMARY	
SUBTOTAL WATER ITEMS FOR ANNISTON SECTION 10 \$570,168.37 \$56	0,272.70
SUBTOTAL WATER ITEMS FOR ANNISTON RECREATION CENTER \$9,216.46 \$1	1,774.60
SUBTOTAL SANITARY SEWER ITEMS FOR ANNISTON SECTION 10 \$536,668.78 \$54	7,988.55
SUBTOTAL OFF-SITE SANITARY SEWER ITEMS FOR ANNISTON SECTION 10 \$57,962.00 \$3	5,530.00
SUBTOTAL SANITARY SEWER ITEMS FOR ANNISTON RECREATION CENTER \$21,037.00 \$1	3,363.70
SUBTOTAL STORM SEWER ITEMS FOR ANNISTON SECTION 10 \$1,011,407.05 \$1,070	3,151.50
SUBTOTAL STORM SEWER ITEMS FOR ANNISTON RECREATION CENTER \$24,656.00 \$2	1,725.40
SUBTOTAL MISCELLANEOUS ITEMS \$85,704.00 \$7	3,650.00

Page 18 of 19 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE
TO SERVE ANNISTON SECTION 10 & ANNISTON RECREATION CENTER
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 23, 2024

LJA ENGINEERING, INC. E. MURPHY MAY 23, 2024 0390-2308 (9.2)

				7) BLAZEY CONSTRUCTION SERVICES LLC		8) R CONSTRUCTION CIVIL, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
TOTAL AMOUNT BASE BID					\$2,316,819.66		\$2,342,456.45
ALTERNATE ITEMS							
TOTAL AMOUNT BASE BID					\$2,316,819.66		\$2,342,456.45
DEDUCT STORM SEWER ITEMS FOR A	NNISTON SECTION 10 ITEM NO.7				-\$110,148.00		-\$115,080.00
DEDUCT STORM SEWER ITEMS FOR A	NNISTON SECTION 10 ITEM NO.8				-\$123,030.00		-\$143,535.00
DEDUCT STORM SEWER ITEMS FOR ANNISTON SECTION 10 ITEM NO.9					-\$24,990.00		-\$27,846.00
DEDUCT STORM SEWER ITEMS FOR A	NNISTON SECTION 10 ITEM NO.10				-\$7,140.00		-\$7,905.00
DEDUCT STORM SEWER ITEMS FOR A	NNISTON SECTION 10 ITEM NO.11				-\$36,720.00		-\$79,920.00
SUBTOTAL ALTERNATE ITEMS					\$400,592.00		\$427,135.00
TOTAL AMOUNT INCLUDING ALTERNATE ITEMS					\$2,415,383.66		\$2,395,305.45

Page 19 of 19 FRN F-1366 LJA Engineering, Inc.